
新基礎数学改訂版 

1 章 数と式の計算 

 

 

§2 いろいろな数と式（p.33～p.34） 

練習問題 2-A 

1. 

（１）与式 =
𝟒𝒚

𝟑𝒙𝟐𝒛𝟑
 

（２）与式 =
𝑥 + 𝑦

𝑥 − 𝑦
−

𝑥2 + 𝑦2

(𝑥 + 𝑦)(𝑥 − 𝑦)
 

=
(𝑥 + 𝑦)2 − (𝑥2 + 𝑦2)

(𝑥 + 𝑦)(𝑥 − 𝑦)
 

=
𝑥2 + 2𝑥𝑦 + 𝑦2 − 𝑥2 − 𝑦2

(𝑥 + 𝑦)(𝑥 − 𝑦)
 

=
𝟐𝒙𝒚

(𝒙 + 𝒚)(𝒙 − 𝒚)
 

（３）与式 =
𝑦(𝑥 + 𝑦) − 𝑦2 + 𝑥2

𝑥𝑦(𝑥 + 𝑦)
 

=
𝑥𝑦 + 𝑦2 − 𝑦2 + 𝑥2

𝑥𝑦(𝑥 + 𝑦)
 

=
𝑥(𝑥 + 𝑦)

𝑥𝑦(𝑥 + 𝑦)
 

=
𝟏

𝒚
 

（４）与式 =
(𝑎 − 2)(𝑎 − 3)

(𝑎 − 3)(𝑎 − 4)
×

(𝑎 + 4)(𝑎 − 4)

(𝑎 + 2)(𝑎 − 2)
×

𝑎 + 2

𝑎 + 4
 

= 𝟏 

（５）与式 =
(𝑥 −

2
𝑥 + 1

) × (𝑥 + 1)

(𝑥 + 1 −
4

𝑥 + 1
) × (𝑥 + 1)

 

=
𝑥(𝑥 + 1) − 2

(𝑥 + 1)2 − 4
 

=
𝑥2 + 𝑥 − 2

𝑥2 + 2𝑥 + 1 − 4
 

=
(𝑥 − 1)(𝑥 + 2)

(𝑥 − 1)(𝑥 + 3)
 

=
𝒙 + 𝟐

𝒙 + 𝟑
 

（５）与式 =
(

1
𝑥 − 1

+ 1) × (𝑥 + 1)(𝑥 − 1)

(
1

𝑥 + 1
− 1) × (𝑥 + 1)(𝑥 − 1)

 

=
(𝑥 + 1) + (𝑥 + 1)(𝑥 − 1)

(𝑥 − 1) − (𝑥 + 1)(𝑥 − 1)
 

=
𝑥 + 1 + (𝑥2 − 1)

𝑥 − 1 − (𝑥2 − 1)
 

=
𝑥2 + 𝑥

−𝑥2 + 𝑥
 

=
𝑥(𝑥 + 1)

−𝑥(𝑥 − 1)
 

= −
𝒙 + 𝟏

𝒙 − 𝟏
 

 

2. 

（１）与式 =
√2 + 1

√2 − 1
+

√2 − 1

√2 + 1
 

=
(√2 + 1)

2
+ (√2 − 1)

2

(√2 − 1)(√2 + 1)
 

=
2 + 2√2 + 1 + 2 − 2√2 + 1

2 − 1
 

= 𝟔 

（２）与式 =
(√2 + 1)(√2 − 1)

(√2 − 1)(√2 + 1)
 

= 𝟏 

（３）与式 = (𝑥2 + 2𝑥𝑦 + 𝑦2) − 2𝑥𝑦 

= (𝑥 + 𝑦)2 − 2𝑥𝑦 

= 62 − 2 ∙ 1 

= 36 − 2 = 𝟑𝟒 

（４）与式 =
𝑥2 + 𝑦2

𝑥𝑦
 

=
34

1
= 𝟑𝟒 

 

3. 

（１）1 + √5 = 𝑋とおく. 

与式 = (𝑋 + √6)(𝑋 − √6) 

= 𝑋2 − (√6)
2

 

= (1 + √5)
2

− 6 

= 1 + 2√5 + 5 − 6 

= 𝟐√𝟓 

（２）与式 =
(1 + √3)(2 + √3)

(2 − √3)(2 + √3)
−

(√3 − 1)(√3 − 1)

(√3 + 1)(√3 − 1)
 

=
2 + √3 + 2√3 + 3

4 − 3
−

3 − 2√3 + 1

3 − 1
 



=
5 + 3√3

1
−

4 − 2√3

2
 

= 5 + 3√3 − 2 + √3 

= 𝟑 + 𝟒√𝟑 

（３）与式 = (√3𝑖 + √2)(3√2𝑖 − 2√3) 

= 3√6 ∙ 𝑖2 − 2 ∙ 3𝑖 + 3 ∙ 2𝑖 − 2√6 

= −3√6 − 6𝑖 + 6𝑖 − 2√6 

= −𝟓√𝟔 

（４）与式 =
3 + √2𝑖

3 − √2𝑖
+

3 − √2𝑖

3 + √2𝑖
 

=
(3 + √2𝑖)

2
+ (3 − √2𝑖)

2

(3 − √2𝑖)(3 + √2𝑖)
 

=
9 + 6√2𝑖 + 2𝑖2 + 9 − 6√2𝑖 + 2𝑖2

9 − 2𝑖2
 

=
18 + 4 ∙ (−1)

9 + 2
 

=
𝟏𝟒

𝟏𝟏
 

（５）与式 = 13 − 3 ∙ 12 ∙ 𝑖 + 3 ∙ 1 ∙ 𝑖2 − 𝑖3 

= 1 − 3𝑖 − 3 − 𝑖2 ∙ 𝑖 

= −2 − 3𝑖 + 𝑖 

= −𝟐 − 𝟐𝒊 

（６）与式 =
(√3 + 𝑖)

2
− (√3 − 𝑖)

2

(√3 − 𝑖)(√3 + 𝑖)
 

=
{(√3 + 𝑖) + (√3 − 𝑖)}{(√3 + 𝑖) − (√3 − 𝑖)}

3 − 𝑖2  

=
2√3 ∙ 2𝑖

3 − (−1)
 

=
4√3𝑖

4
 

= √𝟑𝒊 

 

4. 

（１）与式= |2√5 − 2| + |√5 − 3| 

= (2√5 − 2) − (√5 − 3) 

= 2√5 − 2 − √5 + 3 

= 𝟏 + √𝟓 
 

（２）与式= √(𝜋 − 3)2 + √(𝜋 − 4)2 

= |𝜋 − 3| + |𝜋 − 4| 

= (𝜋 − 3) − (𝜋 − 4) 

= 𝜋 − 3 − 𝜋 + 4 

= 𝟏 

（３）与式 =
|√5 − 2|

|−3 + √5|
 

=
√5 − 2

−(−3 + √5)
 

=
√5 − 2

3 − √5
 

=
(√5 − 2)(3 + √5)

(3 − √5)(3 + √5)
 

=
3√5 + 5 − 6 − 2√5

9 − 5
 

=
√𝟓 − 𝟏

𝟒
 

（４）与式 = √(−2)2 + (√3)
2

− √(−√6)
2

+ (−1)2 

= √4 + 3 − √6 + 1 

= √7 − √7 = 𝟎 

 

練習問題 2-B 

1. 

（１）与式 =
2𝑎2

(2𝑎 + 1)(2𝑎 − 1)
+

𝑎 − 1

−(2𝑎 − 1)
 

=
−2𝑎2 + (𝑎 − 1)(2𝑎 + 1)

−(2𝑎 + 1)(2𝑎 − 1)
 

=
−2𝑎2 + 2𝑎2 + 𝑎 − 2𝑎 − 1

−(2𝑎 + 1)(2𝑎 − 1)
 

=
−𝑎 − 1

−(2𝑎 + 1)(2𝑎 − 1)
 

=
𝒂 + 𝟏

(𝟐𝒂 + 𝟏)(𝟐𝒂 − 𝟏)
 

（２）与式 =
1(𝑎 − 1) − 1(𝑎 + 1)

(𝑎 + 1)(𝑎 − 1)
+

2

𝑎2 + 1
+

4

𝑎4 + 1
 

=
−2

𝑎2 − 1
+

2

𝑎2 + 1
+

4

𝑎4 + 1
 

=
−2(𝑎2 + 1) + 2(𝑎2 − 1)

(𝑎2 − 1)(𝑎2 + 1)
+

4

𝑎4 + 1
 

=
−4

𝑎4 − 1
+

4

𝑎4 + 1
 

=
−4(𝑎4 + 1) + 4(𝑎4 − 1)

(𝑎4 − 1)(𝑎4 + 1)
 

= −
𝟖

𝒂𝟖 − 𝟏
 

 



（３）与式 =

𝑎2

(𝑎 + 1)(𝑎 − 1)
− 1

1
𝑎 + 1

−
1

𝑎 − 1

 

=
(

𝑎2

(𝑎 + 1)(𝑎 − 1)
− 1) × (𝑎 + 1)(𝑎 − 1)

(
1

𝑎 + 1
−

1
𝑎 − 1

) × (𝑎 + 1)(𝑎 − 1)
 

=
𝑎2 − (𝑎 + 1)(𝑎 − 1)

(𝑎 − 1) − (𝑎 + 1)
 

=
𝑎2 − 𝑎2 + 1

𝑎 − 1 − 𝑎 − 1
 

=
1

−2
= −

𝟏

𝟐
 

（４）与式 =
𝑥2 × (1 −

1
𝑥

)

(𝑥 +
1

1 −
1
𝑥

) × (1 −
1
𝑥

)

 

=
𝑥2 − 𝑥

𝑥 − 1 + 1
 

=
𝑥(𝑥 − 1)

𝑥
 

= 𝒙 − 𝟏 

（５）与式 =
𝑥 × (𝑥 + 1)

(1 −
1

𝑥 + 1
) × (𝑥 + 1)

 

−
(𝑥 + 2) × (𝑥 + 1)

(1 +
1

𝑥 + 1
) × (𝑥 + 1)

 

=
𝑥(𝑥 + 1)

𝑥 + 1 − 1
−

(𝑥 + 2)(𝑥 + 1)

𝑥 + 1 + 1
 

= (𝑥 + 1) − (𝑥 + 1) 

= 𝟎 

（６）与式 =
2𝑎2

𝑎 × 𝑎

(1 −
1
𝑎

) × 𝑎
−

𝑎 × 𝑎

(1 +
1
𝑎

) × 𝑎

 

=
2𝑎2

𝑎2

𝑎 − 1
−

𝑎2

𝑎 + 1

 

=
2𝑎2 × (𝑎 − 1)(𝑎 + 1)

(
𝑎2

𝑎 − 1
−

𝑎2

𝑎 + 1
) × (𝑎 − 1)(𝑎 + 1)

 

=
2𝑎2(𝑎 − 1)(𝑎 + 1)

𝑎2(𝑎 + 1) − 𝑎2(𝑎 − 1)
 

=
2(𝑎 − 1)(𝑎 + 1)

(𝑎 + 1) − (𝑎 − 1)
 

=
2(𝑎 − 1)(𝑎 + 1)

2
 

= (𝒂 − 𝟏)(𝒂 + 𝟏) 

 

2. 

（１）与式 =
1(√2 + 1)

(√2 − 1)(√2 + 1)
 

−
1(√3 + √2)

(√3 − √2)(√3 + √2)
 

+
1(2 + √3)

(2 − √3)(2 + √3)
 

= (√2 + 1) − (√3 + √2) + (2 + √3) 

= √2 + 1 − √3 − √2 + 2 + √3 

= 𝟑 

（２）与式 =
1{(1 − √2) − √3}

{(1 − √2) + √3}{(1 − √2) − √3}
 

=
1 − √2 − √3

(1 − √2)
2

− 3
 

=
1 − √2 − √3

1 − 2√2 + 2 − 3
 

=
(1 − √2 − √3) ∙ √2

−2√2 ∙ √2
 

=
√2 − 2 − √6

−4
 

=
𝟐 − √𝟐 + √𝟔

𝟒
 

 

3. 

𝑥 = √2𝑎 − 1を, √𝑎2 − 𝑥2に代入すると 

√𝑎2 − 𝑥2 = √𝑎2 − (√2𝑎 − 1)
2

 

= √𝑎2 − (2𝑎 − 1) 

= √𝑎2 − 2𝑎 + 1 

= √(𝑎 − 1)2 

= |𝑎 − 1| 

 

i) 𝑎 − 1 ≧ 0, すなわち, 𝑎 ≧ 1のとき 

|𝑎 − 1| = 𝑎 − 1 

ii) 𝑎 − 1 < 0,   すなわち,   𝑎 < 1 

𝑎 ≧
1

2
であるから,   

1

2
≦ 𝑎 < 1 

|𝑎 − 1| = −(𝑎 − 1) = −𝑎 + 1 

よって 

 



{
𝒂 ≧ 𝟏のとき    𝒂 − 𝟏

𝟏

𝟐
≦ 𝒂 < 𝟏のとき      𝟏 − 𝒂

 

 

4. 

𝛼 = 𝑎 + 𝑏𝑖, 𝛽 = 𝑐 + 𝑑𝑖とおく. 

 

（１）左辺 = (𝑎 + 𝑏𝑖)(𝑎 + 𝑏𝑖) 

= (𝑎 + 𝑏𝑖)(𝑎 − 𝑏𝑖) 

= 𝑎2 − (𝑏𝑖)2 

= 𝑎2 + 𝑏2 

右辺 = (√𝑎2 + 𝑏2)
2

 

= 𝑎2 + 𝑏2 

よって, 左辺=右辺 

 

（２）左辺 = (𝑎 + 𝑏𝑖) + (𝑐 + 𝑑𝑖) 

= (𝑎 + 𝑐) + (𝑏 + 𝑑)𝑖 

= (𝑎 + 𝑐) − (𝑏 + 𝑑)𝑖 

右辺 = 𝑎 + 𝑏𝑖 + 𝑐 + 𝑑𝑖 

= 𝑎 − 𝑏𝑖 + 𝑐 − 𝑑𝑖 

= (𝑎 + 𝑐) − (𝑏 + 𝑑)𝑖 

よって, 左辺=右辺 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


